
��������

����������������

��������

�

��������	
��

��������	
����������	
��

��������	
��







����

��������

�����

��

�

��

����

��

�� ..................................................................................................................................................1
� �����.....................................................................................................................................2
�	� ��...................................................................................................................................2
�	
 ��
�����...........................................................................................................2
�	� 
�������...........................................................................................................3
�	� 
����.......................................................................................................................4
�	� 
��� !...................................................................................................................4
�	" 
����#$...............................................................................................................5
�	"	� %&
�...............................................................................................................5
�	"	
 '(
�...............................................................................................................5
1.6.3 )*
�.................................................................................................................5
1.6.4 +(.........................................................................................................................6
1.6.5 ,-......................................................................................................................7

�	/ 01'(
�2�!3�45.......................................................................................8
� 
��678 &9
���:;�..................................................................................................9

	��678 &<��
�=�.................................................................................................... 9

	�	� '>?&<@��
���#A:
�BC .................................................10

	�	
 '&?&<@��
���#A:
�BC .................................................10


	
�678 &9
�=�.......................................................................................................... 10

	
	��DEFGH7IJKF 
�................................................................................................13

	
	
�8KJKHDEFG 
�..................................................................................................14

	
	��LMIHDEFG 
�....................................................................................................15

	
	��GENDHMIO 
�....................................................................................................16


	� P
��QRS��TU.............................................................................................17
� ���'(
��VWWX.......................................................................................................18
�	� '(YZ�QR.............................................................................................................18
�	
 '(T[.........................................................................................................................18
�	� '(\]WX.................................................................................................................18
�	� &9 <^
�VW�01.........................................................................................19
�	� '(
��_`ab.....................................................................................................19
�	" c�
��_`ab.....................................................................................................19
�	/ c�
��WXde.....................................................................................................19

� ���)*f��WX=�.......................................................................................................20
� ���'(
��ghi...........................................................................................................22
�	� '(
��ghi.........................................................................................................22



��������

����������������

��������

�

�

��

��

��

��

��

� ��

����

��

���

������

��� ��

����

��

&9��
�jklm'(
�n'o
�jpqrs�tuvwx�&9yz
{|

}~�j����&9
����|V&9y�
{_`aS��2�?j�=�����j

�&9�����TU�������;��

�1 ��
���&9y

���

������

��� ��

����

��	
��


	
��
	
��


	
��
�

��

�

� ��������

� 
��
��������

� 
��
�������

� �
�����

� ��������

� � �!"#$�



��������

����������������

��������

�

���

������

��� 	
������

	
������	
������

	
������

�2 &9
���g����
� %&'()���*+,-����.�

� /&'()�0�'(123'(4�567839:;<=>?@A*3

���BC�*D+�

� EF()GH�'(123'(�I3JK789LMN3OPQCRS

MN3TUVWMNXYZD+�

� [\)!][\*5^_`,
�!]�����

�3 
������&9j��_a
� a�(a)

!]�����



��������

����������������

��������

�

� bc\)
�!]9:;de�fg��,hijkl)

�4 ����]�
� !m)!]nop=q!rstu9:�

���

������

��� 	
���

	
���	
���

	
���

!]9L;,vw<D+�?@,K

9Lxy,z;n{|!]}/�

`"~�����!]���T����/�s
�?@,̀ "X�O���/

�?@�

�5 
����

���

������

��� 	


	
	


	
��

����

����

����

��

� ���

� ���

� O���

� �C�

����������,�����R?y�
,*�<x� ¡R¢,£

¤,���¥¦GM�*§¨+�



��������

����������������

��������

�

���

������

��� 	
�

	
�	
�

	
���

����

��� 

� � 

� 

�!]9©_`ª<«¬­®,¯°±²³93R´3UVW´©3µ´¶

=qm·«¬­®�

�����

����������

����� !"	


!"	
!"	


!"	


T¸_¹º�!]»©¯°e�¼¸_±²�½�!]�_`�¾¿ÀÁO

z,56ÂÃÄÅ���ÆÇÈÉÊË�ÌÍ,xy�Î�

�����

����������

����� #

##

#$

$$

$	


	
	


	


RSMNÏGR�!]Ð�ÑÒ�,�_ÓÔÕ,Ö×´©,Ø¬­®ÂÃ

�e���0,ÆÇ!]����xÙÚÛ+�RS9:Ï�ÜÝ3�oÜ�9

©­®,����RSÞßàMáâãstuÈÉ�

�6 '(��WX
äå78æÁ

1çR´èÒ��
éç³R;��

êç9:;��

ë ìíîïðñ ìïòò ìïòòîêóôõ

R´èÒ� ééóöéêó éòó ÷øóö÷êó

³R;� êö÷	 ùöò	 òöú	

9:;� øöé	 êö÷	 ÷öù	

1.6.3%&	

%&	
%&	


%&	


UV9:Ï�¬opUVû>ü�!]ýMªY1��þ�Æ� �Ð��

�Ò��
,�Ò��Ð�_ª=��ÔÕÒ�;,	!]9:�`ª�,�


>��,Mªz;T�Ñ�´�iµ
Ñg�



��������

����������������

��������

�

�/�)*f��WX

äåMNæÁ)

1çUVW�y)20-80kHZ�
éçû�)40-100�m
êçû>;�)

÷ç9:;�)

½�UVW9:����»*¢,�!]����H,T9:p�,56~

�!]#$,��Ï!&����� �ø�ò Ki�!],�+O �UVW9:�

1.6.4'$
'$'$

'$

O�!]tuGR,ÆÏ%�!�´�	!]´©`"e�opØ¬­®9

:�!]"�����#�Î,QC$�OH�%C�

�8 +(��WX



��������

����������������

��������

�

�9 +(��WX

1.6.5()*
()*()*

()*

��&àº!]'©,d���_ªq(�)!m�

��� ,-.��WX

*¹���+�9:­®ÏR´3̄ e³9¶UVW´©,iYÏ,¬­®

�-./�§)

9:­® �


�
�


�
 +


+
+


+


R´

øçO60�!]�_ª�

éç9:;12V34�

êç=>Õ��
�

øç567�89�

éç!]#$6:�
�



��������

����������������

��������

	

³9

øçnK�ÐÛ
�����

éç`";<nK�Ð�=�

øç>Ê?@��

éçABy�
�

êç60�¯°�

÷ç<!&CDEF�

ùçMGÈÉÊË�ÌÍ�

UVW´©

øç9:?@��

éçn��H�I<S/
�

_`ª�

êç!&CDJKÎ

øçOQ��k<²L�!]�

éç6?M_`Nß_ªOP�

êç60�!]�

÷ç2VH�

ùç5�UVWH�89�

òçO6QZ=>Õ�

��,

��,��,

��, -.#$	
/��0�12

-.#$	
/��0�12-.#$	
/��0�12

-.#$	
/��0�12

øç8R

SøT!]U²� V�

SéT`"�#$8R�

éçMN

SøT¸_MN�

SéTR´MN�



��������

����������������

��������




�

��

��

��

��

��

� ���

������

��� �	
��


�	
��
�	
��


�	
��
���

������

���

*¹RS!]���WX§�+,Y¤Z[B\< PSM(]^),PEM3Dodge
·�YÂ_`!]WX�§�+�,_h`a�bMc�dª<efg34h�

i4h�ijkl�<efg·,

34

3434

34 56

5656

56 78

7878

78

ø ìñ� mmm�nopqrsturvsqwrvx�ywp

é ìz� mmm�ntprts�ywp

ê {w|}t mmm�tp~vus�ywpë�uvr|oë|w|}t

÷ YÂB\

`a�bMc�dª<efg

4h�i4h�ijkl�<efg

��

½� ìñ�_Ó!]���§�+,��B\�!]� ìñ��_`!]�§�

U�,i1������i ìñ�_`!]�

�11 PSM&9
�

���

������

��� 9:;

9:;9:;

9:; "<��	
=�

"<��	
=�"<��	
=�

"<��	
=�

�� PSM �!]<Q��R_�_Ó�,Ú<Q��Rd�_Ó��<Q
��¯e³9�,Ú<Q��R´3UVW´©3µ´ß=q��



��������

����������������

��������

��

�����

����������

����� #>?"<@��	
���AB	
CD

#>?"<@��	
���AB	
CD#>?"<@��	
���AB	
CD

#>?"<@��	
���AB	
CD

�12 '>?&<@��
���#A:
�BC

�����

����������

����� #"?"<@��	
���AB	
CD

#"?"<@��	
���AB	
CD#"?"<@��	
���AB	
CD

#"?"<@��	
���AB	
CD

�13 '&?&<@��
���#A:
�BC

���

������

��� 9:;

9:;9:;

9:; "E	
=�

"E	
=�"E	
=�

"E	
=�

i1� ���i�¬!]�#$���,hiY)

��

����

�� ��

����

�� PSM ����

��������

���� 	
��

	
��	
��

	
��

1 SONIC-LOK

1��2�'(n)*f�#$
 ¡w¢��j£��¤�z

c�¥

2�¦§$¨©TUjª $(
«9¬j9¬­®¯°¥

3�±²³´��TUjµ¶u
·¸j­®¹³¥

4�º»#�¼³½{TUj¾
&9�¿ÀÁj`_a}¥



��������

����������������

��������

��

2 TAPE-X 

1�@�¤'(n)*f��¥
2�ÂmÃ�³ZÄÅ(8 Z)�
&9Æ©ÇTU¥

3�´½S»�ÈÉ�Ê�`a
S?�¥

4��Ë±²¼TUj2��Ì
ÍÎ­®�ÏÐ9¥

3 6030

1�@�¤'(n)*f��¥
2�ÂmÃ�³ZÄÅ(8 Z)�
9¬ÇTU¥

3��`_a?�¥
4j��ÌÍÎ­®�ÏÐ9

4 HI-TORK

1�@�¤�'(v)*fnÑ
�zc�¥

2�@�¤ÄÒ�ÆÓ¥
3����ÔÕÄÅ�Æ©¼Ô
Õ¥

5 TECH-SONIC

1��2�'(nÑ�zc�¥
2�Ö×(½|V�`_?�¥
3�̈ ØÙ#�?j�ÚÛÜÝj

�#Þ,ß <VW¥

4��2�¤àáÄâ�9¬¥

6 MINI-TECH

1�ã^äåC��TU¥
2��2�'(nÑ�zc�¥
3�̈ ØÙ#�?j�ÚÛÜÝj

�#Þ,ß <VW¥

7 HEAT-LOK

1�@�¤'(VW¥
2�@�¤Ä®æ°�'&?&
<¥

3�±ç(½�èéêqë(½
ìØí��îïSðñ�;a

4�̈ ØÙ#�?j�ÚÛÜÝj

�#Þ,ß <VW¥



��������

����������������

��������

��

8 PRESS-LOK

1�@�¤'&?nÑòóôõ
ßa}�&9y¥

2��«#$=öj��÷ø(
«ù�¥

3��t�_`a:úûü�¥

9 FIN-LOK
1���¤'>?&<¥
2��«#$=öj��÷ø(
«ù�¥

10 SPIRO

1��ý�½{TU�þ���
ôì�Ï�;a¥

2��«#$=öj��(«�
#$w¢c�¥

11 BANK-LOK
1�@�¤'>?&<¥
2��«#$=öj��(«�
#$w¢c�¥

12 SCREW-SERT

,-C��
�j���¤�

r'&?S'>?&yj��

@�¤��óaS <zñ}

Z���#¥ 

13 FLO-TECH

1�@�¤�zc�j�´TU
t�¤Ý«���	z�

2�t
Æ�
�j�ÚÛc�
%&ô&<< «
Æzj�

�tÚ�ü�¥

2��×$
»#�³{TU�
Ê�_`a?�¥

������q���� TECH-SONICv MINI-TECHvFLO-TECH : HEAT-LOK
�
���:�^;�&9
¬TU%����



��������

����������������

��������

��

�����

����������

����� FGHI

FGHIFGHI

FGHIJ

JJ

J:KLMH

:KLMH:KLMH

:KLMH 	


	
	


	


�14'oWX�&9y>µ¤�q&9y�
�/)

� ¤g1­@�,n����,�­�=>tÓGM�

� nopR´ß¯e³9�­®tu9:�

� �)´(�G
���*�

� n����<�=�`"�

!]°¼���`"��hiY)


�

BC

C� 
.

��

�Z

A

¨©

�D
±²�

©�6

��9

¬zÆ

�©

(
1.0

0
+

)

 !

àá

 !9¬

"Z

TEC-B-M2x4.0 M2 4.0 3.5 3.1 3.2 1.3 4.5
TEC-B-M2.5x5.7 M2.5 5.7 4.4 3.9 4.0 1.6 6.2
TEC-B-M3x5.7 M3 5.7 4.4 3.9 4.0 1.6 6.2

TEC-B-M3.5x7.1 M3.5 7.1 5.2 4.7 4.8 1.8 7.6

TECH-
SONIC

TEC-B-M4x8.1 M4 8.1 6.1 5.5 5.6 2.1 8.6

`"8R¸�/

1�`"�;<5��!]�æÁYtu8R,��`"TR´;~Pß����
2�N�4�5§!]���� 0.5mm,��R´!]�p��_`�Õ�>t
©!]e����!]�_`�(�

3�`"�?�8RG� ,��½����¡T?M`"¢P�n*�
4�_`NX­nO8R��(�!]��°</�
�?@É�)
5�_`Ne£�¤¯/��T 0.5�Ki�
6�_`N��O�</1¶¥¦�
7�¯e³9;,5��¸�¯°Xk���§¨��,5�C!]eN���
�� PSM©ª���!],PSMQ«���Á�hiY,É�8Ræ¬



��������

����������������

��������

��

�15 TECH-SONIC
�­	 <_a�

�����

����������

����� ;MLM

;MLM;MLM

;MLMJ

JJ

JFGHI

FGHIFGHI

FGHI 	


	
	


	


!]¤ghijkl)

�16TECH-SONIC
�­	 <_a�

�/)

� n�����­�ÂB�

� n��!m®m�

� ¤g1­@�,n����,�­�=>tÓGM�

� n¯°_`�<���



��������

����������������

��������

��

!]�#$�����`"���hiY)


�

BC

C� 
.

��

�Z

A

¨©

�D
±²�

©�6

9¬z

Æ�©

 !

àá

 !9

¬"Z

MTEC-B-M1x2.5 M1 2.5 2.2 1.7 1.8 0.7 3
MTEC-B-M1.2x2.5 M1.2 2.5 2.1 1.7 1.8 0.7 3
MTEC-B-M1.4x3.0 M1.4 3.0 2.5 2.1 2.2 0.8 3.5
MTEC -B-M1.6x3.0 M1.6 3.0 2.5 2.1 2.2 0.8 3.5
MTEC-B-M2x3.0 M2 3.0 3.0 2.6 2.7 0.8 3.5

MINI-
TECH

MTEC-B-M2.5x4.0 M2.5 4.0 3.65 3.15 3.25 1.0 4.5
`"�8R¸�/æ¬ SONIC-LOK��¬ÂB½���±²�³,´¢�

0�µ¶i·¸?@�Ç¨�}
�

�����

����������

����� NOK

NOKNOK

NOKJ

JJ

JFGHI

FGHIFGHI

FGHI 	


	
	


	


!]¤ghij)

�17TECH-SONIC
�­	 <_a�
�/)

� ¹N8Rn��¯e³9±²;`Ót©!Ne,Ç°<�ºA*�

� ��8R<!��©¯°e�

� ¹N¥»1¼½�

� ,)®¾¿­@/&8R

����*�

� �L­®�QC�¯e³9�

!]�#$��hiY)


�

BC

C� 
.

���

Z A
¨©

�D
tu." E �´"Z F

FTC-B-M2x5.5 M2 5.5 3.4 3.6 1.0
FTC--B-M2.5x6.4 M2.5 6.4 4.3 4.0 1.2
FTC--B-M3x7.3 M3 7.3 4.7 4.6 1.3

FLO-
TECH

FTC-B-M3.5x9.2 M3.5 9.2 5.5 6.0 1.6



��������

����������������

��������

��

FTC-B-M4x10.2 M4 10.2 6.3 6.7 1.8
FTC-B-M5x11.2 M5 11..2 7.3 7.4 2.0
FTC-B-M6x14.4 M6 14.4 9.8 8.1 2.0
FTC-B-M8x16.5 M8 16.5 11.4 11.1 2.3
FTC-B-M10x17.9 M10 17.9 13.8 11.9 2.4

��Ø¬!],6ÀÁ#$nÂ�,¯°X� PIN��<Ã��6:�

�����

����������

����� IGPF

IGPFIGPF

IGPFJ

JJ

JOKQ

OKQOKQ

OKQ 	


	
	


	


½� PC ÏÄ#Å_Ó,¯eg±�¡T�H�e��,PSM ÆÇ��

HEAT-LOKU!],�¤g��hijkl)

�18TECH-SONIC
�­	 <_a�
�/)

� ��ÈÉ�.�ÊË�Ä#ÅR_�_Ó,�<�ÌÍ(&n{|��´

(kg±�TÎÏ����

� ¤g1­@�,n����,�­�=>tÓGM�

� 
����*�

� Q��R´GM�

�� PSM©ª���!],PSMQ«���Á�hiY,É�8Ræ¬

�19 TECH-SONIC
�­	 <_a�



��������

����������������

��������

��

���

������

��� R	
�STU��VW

R	
�STU��VWR	
�STU��VW

R	
�STU��VW

!]� VÐ�)

� #Å�_Ó���d�OÊË,�¬!]�*Q�

� Ä#Å_Ó���ÄÜÊË,T V!]²L;,�{|Ñ!�'(��

ÈÉ56ÉÒÓáÔ�_ª,�Õ��0Ö,9<!]�_ª×Ø�Ù±

Ã��ÚPZÛ,�+ÏÜáÔ,�9:!]

� Rd�_ÓOQ�RS�UVW9:!],Tv6;,nK VjkÆÎ

Ý�'(!]%�´©

��Â�8RXÜ�� ABS3PC+ABS¶ PCÓ,ÆÇ�!]9:MN¶!
]²Lhi)

� �� ABSÞÓ,nK �³9ßR´�­®tu9:,��ÆÇ�� PSM
� TECH-SONICU!]�

� �� PC+ABS Ó,¬ßÐe��EF,������R´�­®tu9
:,ÆÇ�� PSM� TECH-SONICU!],hÙ56à$��H���,
ÚnK��³9­®,ÆÇ�� PSM� FLO-TECHU!]�

� �� PCÓ,½�e��§�H,�{|(Z`"OPEF,��O6�
�¯e³9�­®,ÆÇ�� PSM� TECH-SONICU!]KR´­®t
u9:�

� ��0²ÂB,�¯°��,nK � PSM � MINI-TECH U!],�
¬!]7�0²ÂB8R,nKÂ�³9ßR´­®tu9:�



��������

����������������

��������

�	

�

��

��

��

��

��

� ��
������

��
��������
������

��
������

½�R´!]MN����+,�á�/��R´!]MN�

���

������

��� #$XY�ST

#$XY�ST#$XY�ST

#$XY�ST

½�R´Ò�ý_ªÞÓ<ÛH�äÀ,��� VÎ�_ÓS/Ò�

10~20��Ò�stuR´,��Ü�� PC3ABS3PC+ABSÓ,PSMÆÇ�
R´Ò�hiYkl)

�<

�<�<

�< Z[#$XY

Z[#$XYZ[#$XY

Z[#$XY

ABS 140~160âC
PC 240~260âC

PC+ABS 220~240âC
���

������

��� #$V\

#$V\#$V\

#$V\

RS9LÏ�ÜÝ3�oÜ�9©­®,��KRSÞ¶àMáâãst

u9:�RSÞMNãÑ�+,n�ä9:+å!],-89æ©±�
,ÆÇ

568R7ç�Ñèé°�áâãQ��àM9:,±�Î,-MNãÑ��.�

�20 ��
�'o

���

������

��� #$]^_`

#$]^_`#$]^_`

#$]^_`

R´!]�°¼MN¸�/)

1�R´!];,TOzÞÓÆÇ���Ò�X,Ü�!]GR 7-10s�tu
R´�

2�R´;´�O*pH,O�T`ÓêëÔÕ;�u´©�
3�R´!]×,!]ì©`"í1 0-0.3mm�
4�R´×îï!],!]O�<ð/,`"O�ñ�ßOP�



��������

����������������

��������

�


���

������

��� "E�<a	
b_�-.

"E�<a	
b_�-."E�<a	
b_�-.

"E�<a	
b_�-.

1ç��#Å�_Ó,hÙ!]Á¢§�+,Oòó�¯e³9�­®,5
6?M_ªY1.ì�

2ç��¯e³9g±,½�_Ó��ô�¾¿yOz,56?M�H�e
��,õ�ÏÄ#Å�_Óh PC·,n*�?M`"~P,kK��µ¶i*
� VR´MN�O6ó�¯e³9�

���

������

��� #$	
�cdef

#$	
�cdef#$	
�cdef

#$	
�cdef

&9y'(
�ì�#$�_`a��b%�&ì'�

PSM	
gh
	
gh	
gh

	
gh ce

cece

ce(kg) dei

deidei

dei(kgfj
jj

jcm)
TEC-B-M2.5x5.7 60 13
TEC-B-M3x5.7 65 15
TEC-B-M4x8.1 70 18

���

������

��� k�	
�cdef

k�	
�cdefk�	
�cdef

k�	
�cdef

PSM	
gh
	
gh	
gh

	
gh ce

cece

ce(kg) dei

deidei

dei(kgfj
jj

jcm)
TEC-B-M3x5.7 100 15
TEC-B-M4x8.1 200 30

��,

��,��,

��, k�	
�_`lm

k�	
�_`lmk�	
�_`lm

k�	
�_`lm

1�³9!]�ó�ö÷Ñè,�ÀÁö÷ý!]�zø�OH�ù0.03mm,
¯°X�Ì"Nýö÷ø���Cf.� H9/f9�

2�!]T¯°�ÑènÂ,T>¯�C¯p��O�ú>,T
´S¼�
��iO}/3OûÓ3O¤ü�

3�� PC3PC+ABS·ÊËÞÓ,5�!]³R,ßtu×ýÀÒ�þ,K
�­R���ÂÃ(OÆÇ PCÓó�¯e³9MN)�

4�R´×îï!],!]O�<ð/,`"O�ñ�ßOP�



��������

����������������

��������

��

�

��

��

��

��

��

� ���������

������������������

���������

UVW9:!]<Ki�¬­®,hijkl,��,����¬­®��

§���,-��¬­®½�UVWHèÏ��_`ªÆOÏ�ô!],kK�

Hè�þ0§�0,��nK��C�(Ô�)ß�C�s�UVWHè,£¤�

�¬­®�2�Ú§�0,k5�UVH�*¢Ú�Î,kKÚ<k���

�21 )*f��
�WX�(r#$

���

������

��� %&n��_`��


%&n��_`��
%&n��_`��


%&n��_`��


� 9:?@��

� ÂÃ�ÄÅ��d��Î�

� nK�ä9:+å!]�

� 56QZ=>Õ�

� MNãÑ�+�

� ��S/�
�ÞÓh PPSU,½�ÞÓS/�
,�R´!]�MNÛ
J	R¢	
��ÞÓ���Õ,-UVW9LMNnK�+�
±H

��

���

������

��� %&n��_`�lm

%&n��_`�lm%&n��_`�lm

%&n��_`�lm

� �UVWH�Þ��ÎAy6:)

�!]¤£ OD� 6.35mm: 1000 ��
�!]¤£ OD� 12.7mm: 2000 ��

�!]¤£ OD� 12.7mm: 2000-3000 �(ß�
)�
��ä9:+å!];: 2000 �ß�
�

� ���0UVWHè�þ0,UVWHè�Õ���ßY1����C�

s8Ù�

� UVWHè��112��!]�112�,Ð���

� _`ª�<D+����Ñè,��Ï569:!]�`"��,�Ñ6



��������

����������������

��������

��

<D+���,��³9;_`ªfg�

� 9:×,!]���ý`"��í½ß�
�`"��,Ø�<!�



9:×�!]����,��!]��(,hijkl:

�22 ���
��ñ;¾9¬�ñ)*n+�¤9¬�ñ



�
�
�
�
�

�
�
�

�
�
�
�
�

�
�
�

�
�
�
�
�

�
�
�

�
�
�
�
�

�
�
�

�
�

�

�
�

�
�

�
�

�
�

�
�

�
�
�
�

�
	


�
�

�
�
�

�
	


�
�

�
�
�

�
	


�
�

�
�
�

�
	


�
�

�
�

�
�

�
�

�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�

�
�

�
�

�
�

�
	


�

�
	


�

�
	


�

�
	


�

1�
�
�
�
�

�
�
�

	
�
�
�


�
�


�

�
�
�
�
�
�
�
�
�
�
�
�

�
�
�
�

�
�
�
�
�
�
�
�
�
 
!
�

�
"
#
�

$
�
%
�
&
'
(
)
*
+
,
%

-
.
/
#
 
0
-
1
�
2
�

	
�
�
�


�
3
�
�

�
�
�
�
�
�
3
�
�

�
�
4
5
�
�
�
6
7
�
�
�
�

$
�
8
9
%
�
:
;
&
'
�

2�
�
�
-
<

�
�
=
6
*
>
�

%
-
&
'
(
)
*
?
�

8
9
�
�
@
A
�
B
�
=
6
�

8
9
%
�
:
;
&
'



�
�
�
�
�

�
�
�

�
�
�
�
�

�
�
�

�
�
�
�
�

�
�
�

�
�
�
�
�

�
�
�

�
�

3�
�
�
C
D

1
E
F
*

G

�
�
�
�
�
�
�
�
�
H
�

�
�
�
I
�

�
�
J
K
L
#
�
M
�

�
�
N
O
L
#
�
P
#
*
Q

R
3
�
�
�
�
�
�
�
�
�

3
L
�
�
J
K
L
#
�

8
S
�
�
J
K
T
U
�

R
�
�
�
N
O
L
#
�
P
#
�

�
�
3
P
�

4�
�
V
W
X

�
�
Y
Z
4
[
*
G
\
%
-

]
�
�
Y
Z
^
�
�
Y
Z
_

`
a
G
Q
�
b
c

�
�
�
�
3
L

d
�
�
�
e
Z

f
�

:
;
/
#
�
g
�

h
 
:
;
/
#

i
�

�
�

�
�

�
�
�

:
;
&
'
(
)
*
>

8
9
:
;
&
'


